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Note: Answer any five full questions.
10X5=50M
Q 1) In the circuit shown in Fig.1, determine V2, which results in zero current through the
4Q resistor. Use mesh analysis. 10M
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Q2. For the network shown in Fig. 2 determine the node voltages V1, V2, V3and V4 using nodal
analysis. _ 10M
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Q3. Referring Fig. 3 determine the equivalent Req by using star delta transformation. 10M
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Q4. Use mesh analysis to determine what value of V2 in the network in Fig. 4 causes v =0 is
the voltage across 20 €. 10M
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Q5. Using source transformation, find the power delivered by the 50 V voltage source
in the circuit shown in Fig below. - 10M

Q.6) Draw the dual network shown in fig. 6. And write the equilibrium equations. 10M
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